.‘ Mo ‘s \ ) ) A ) e
| [']hlh question paper containg 8 pringe

d pnn(\q_’
| Your Rop N,
. NO- of Question Paper: 2515 -
ZL ‘ ‘ '
Unik\“"‘ Paper ode v 2272201101
; MR ST b) e .
Nam¢ of the Paper v Introductory Microeconom|
‘ y ; A
. aof » O e '
Name of the Course COBAG (Prog) with Economies
I‘IS (Major & Minor)
Semester o

- - <« R . | . ¥
Duration : 9 Hours Maximum Marks : 90

F70 : 3 W0 it - 90

Instructions for Candidates
on the top immediately on receipt

| Write your Roll No.
of this question paper.

S

Attempt any five questions.
All questions carry equal marks.
¢ calculator is allow

ritten either in Engl
should be used throughout the

Use of simpl od.
ish or Hind,
Answers may be W ish ¢

but the same medium
paper.

o & farg frdw
3

T

Al

W ygg-ug A e & @ Ry W fuifta Tt K]

- e feife |

b Rl e e IR A

3 |

WS e o s @ P | .
| | b 1.0.

bl
;[(4
£
|



2535

1 mmgﬂﬁamﬁﬂaﬁﬂ“ﬁ%'

5 mm-ﬁmmmﬂﬁﬂm%ﬁﬁmﬂwam%m%1
wﬁﬁmmﬁamﬁﬂ%@l |

o that the production of wheat and macp; ‘
ne

1. (a) Suppos
x-axis and y-axis, how wij thad
¢

are indicated on
PPC change if:
(i) Factor inputs become two times mom.g
efficient than before. ' e

(ii) Scientist discoyef a new variety of seeds
that yields three times more wheat. (3

(b) Explain™ the trade-off be‘t"ween inflation and
unemployment? e, | (4)l

(c) Explain the 'c_oncept of l“invisiblle 'hal‘ld”. 4)

(d) “Trade" can m | | |
_ ake everyone bette ive

y t ? |
example to prove it. b e ot Gl(‘;j
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The market for pizza has the followi
owi
supply schedules : A

N

—

Quzntity demanded (Pizzas) | 135 | 104 | 81 | 68 |53 39 |

Qmmn}'supphea(Pms) 26 |53 |81 |98 |1i0 IZIE

§

(z) Graph the demand and supply curves. What are
the equilibrium prices and quantity in this market.

(6)

(b) If the actual price in this market were above the
equilibrium price, what would drive the market

(6)

the

towards the equilibrium?

(c) If the actual price in this market were below
equilibrium price, what would drive the market

towards the equilibrium? (6)
from & aroe 3 Frerfane i S S ST LE
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3. (a) What do you understand by the term elasticity)
Explain income elast1c1ty and cross price e]astmty

with example. . (6) !

(b) Show producer and consumer surplus with the help "

of diagram. | , (6) |

(c) Mehssa buys an iPhone for $24O and gets
consumer surplus of $160. Draw the graph and.

calculate?

(i) What is her willingness to pay? Q)

(i) If she had bought the iPhone on sale for
$180, what would her consumer sm‘Ph‘s
have been? (’)3

(iii) If the price of an iPhone were 550-"‘-

what would her consumer surplus havé
been? (”'g
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(i) 98 T FEW HEr A dar 27

(i) af? 3&F Rt ™ iPhone $180 ¥ & dmr
N IHT I SRR T Bar?

(iii) af? 1Phone =t ﬁ?ﬁ' $500 BIl, aF IFFT
JqdieaT JEY =@ Ber?

; (a)' How Pricé ceiling and price floor affect the market

(6)

outcomes?

- (b) What defgrmines the division of tax burden
between buyers and sellers. Explain graphically.

(6)

(¢) Describe what a tariff is and its economic

(6)

‘{ effects.
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ndifference curve and itg Prop |
Crij
Cy

(6)

5. (a) Define the

Mat is the shape of indifference curyeg in ¢

L) W
of perfect substitutes and perfect C(’mplcmc,"

goods. | K
(¢) Explain the trade-off between work and iy
with the help of indifference curve analysig)

0
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6. (a) Explain the difference between the public gOOdsz
and common resources. Explain why Education? i5 |
not considered as the pure public goods? (6)

(b) How does the existence of public gOOdS lead m.
market failure, give example? ‘

(c) Explain the free rider nraklos (6).5

e
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1 (a) Draw a demand and supply diagram to explain

the effect of positive externality and negative
externality with real life problem. (6)

(b) Explain the “Coase Theorem”. | - (6)

(c) Is “pollution permits” is better approach than

“Corrective taxes” to control the carbon emission

i ot o ket

by the industries? Do you agree or not, justify

your answer. ‘ : (6)
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g. Write a short note on the following .

(a) In the context of strategic games, define stry
Cllieg

payoff and rationality. ?
(6) |

(b) “Giffin goods are exceptions to the lay |
of

demand”. |
| (6).

(c) “Free markets produce the quantity of goods th t
8 . | ' a
maximizes the sum of consumer and producef-

Surplus.” . (6)
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